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(1)

Initial split :

& Ego - Ga : 853 , 5 Gra G2cG433
non-accept states accept states

(2)

Consider split [G0 , GS . G53 :

InputO : [GosG3c8550 > [Gzs90 - G53
same partition

Input1 : [G53 => &G5] I980 . gaB > &Gaguis
split !
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Consider split : &Gia G2 : Gas
Input0: 9 g1 < G2 , &213

o
< [Gz3

Input1: 9g1a Gi , &43
=

&G53noit12 Consider split : 5G53 no split possible
14
Consider split : 980aG33 "no more splits
Input8 : &Goa Gs30 < 993 : Go3 can be done.

Input 1: 990aGa3
=
> &G1 , game partition no

same partition
split !
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Resulting DFA :

go A A
-> EG0Gs3 =s &GiaGueGu3 <[G53

% of state reduction : 50 %


